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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name: Industrial Engineering

Subject Code: 2TEO41EN1
Semester: 4 Date: 01/05/2019 Time: 02:30 To 05:30 Marks: 70

Branch: Diploma (Mechanical)

Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions
1)  Work study involves
1) Only method study 3) only work measurement
2) Method study and work measurement  4) only motion study
2)  The work study is done by means of
1) Planning chart 3) stop watch
2) Process chart 4) any one of these
3)  What does symbol 'D" imply in work study?
1) Operation 2) delay 3) storage 4) none of these
4)  Break even analysis consists of
1) Fixed expenses  2) variable cost 3) sales revenue 4) all of these
5)  Father of time study was
1) F.W. Taylor 2) H.L. Gantt 3) F.B. Gilbert 4) none of these
6) Product layout is used for
1) Job production 3) mass production
2) Batch production 4) any one of these
7)  Process layout is also known as
1) Analytical layout 3) static product layout
2) Synthetic layout 4) none of these
8) C.P.M.is
1) Critical process method 3) both 1) & 2)
2) critical path method 4) none of these
9)  What is productivity?
1) Input/output 3) output/input
2) Input + output 4) none of these
10) The start or completion of task is called
1) An activity 2)aduration 3) an event 4) none of these
11) Product layout is also known as
1) Analytical layout 3) static product layout
2) Synthetic layout 4) none of these
12) Bar chart is suitable for
1) Large project 2) major work  3) minor work 4) all of these
13) The interchangeability can be achieved by
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1) Standardization 3) bonus plan

2) Better process planning 4) better product planning
14) In time study, normal time is more than the standard time 01
1) Yes 2) No
Attempt any four questions from Q-2 to Q-8
Q-2 a) Define industrial Engineering and write its purposes. 07
b) What is the Method Study? Refer to the step by step method for doing a method 07
study.
Q-3 a) State the role of the Industrial Engineer in the industry 05
b) Define string diagram and write its uses. 05
c) Explain fly back and non fly back watch. 04
Q-4 a) List, Draw and explain Standard Symbols Used in Flow Process Chart 07
b) Do comparison between cumulative timing and flyback timing 07
Q-5 a) Write difference between Quality control and Inspection 05
b)  Define the ‘“THERBLIG’. Give symbols of any five THERBLIG 05
C) Explain the term ‘Rating’ and state its importance in time study 04
Q-6 a) Explain the use and principle of acceptance sampling compared to random sampling 07
b) Explain Kaizen in brief and write its objectives. 07
Q-7 a) Explain p- chart in detail. 07
b) Define ergonomics and write its objectives and application 07
Q-8 a) Define TQM and write the objective of TQM. 07
b) Define ‘Reliability’. Which factors are to be considered for increasing reliability of a 07
product?
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